XERTOJSZIDORMERIR -CS5E- YT )LRRE Ver1.0

pEa=E ]

- WEREHRFEERREL T ZE0,

M1 mAEmN / HMBE K / BESY(L: 15D

Gl

FEADDSEOEH n & n BOBERITID. TOBRDPORAEEE/IMBEFERNNKRDZTOTSLZIEHRLELL D,

ANETNBiE

n
al
a2
a3

an
- BOEE N & nfEdEgal, a2, a3, - - - ,an MEADBH TSI SNET,

ANFIE

UFogETAOMNTONES EENADBICHTDI—T+ 2T EARE),
- BDEER 0=n=100

- &% 0=al,a2,a3,- - -,an=100

hhISE

BAfE
&/ME

- BRAME. BIMEICE. FAOBHENRRINET.

BTN —X 1
AH
5
23
6
9
59
34
HiH
59
6
8
| AN SNESEIRCEARL - SIMESERL. BAME - SIVMBEREHL TV & BAIBN 59, B/IMEN 6 ERDET. |

= (T TAIL DY —X)

/* CX2 C+HRES TIVICETHRED — RRAZARI IEBEFAITIHS EANC o BRAMUTIZEL, */
#include <stdio.h>

int main()

{
char s[100];
scanf("%s", s);
printf("%s¥n", s);
return 0;
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/* CX2 C+HRES TIVICETHRED — RRAZART ISBEFAITIHS EANC o BRANUTIZE0, */
#include <stdio.h>

int main(){
int price; //&%8
int count; //##K
int types[] = {10000, 5000, 1000, 500, 100, 50, 10, 5, 1 }; //&f&
int size = sizeof(types) / sizeof(int); //BCHIDEREX

J/IAF(CO—REEBRELTZE,
//ZZET

return 0;
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/* CX2 CG+HRES TIVICETHR D — RRAZART ISBEFAITIHE EANIC e BRAMUTLIZE0,
#include <stdio.h>

double calc_std_weight(double height, int howto);
void display(double weight, double std_weight);

int main(){
double height, weight, std_weight; //BE. k&, Z#KE
int howto; //ETEFSE
J/FICO—RZEBRELUTIEE,
//CZET

std_weight = calc_std_weight(height, howto);
display(weight, std_weight);

return 0;

[ IREKEDTE

double calc_std_weight(double height, int howto){
//ATFICO—REBRELTZEL,
//CCZFT

VIESZN

void display(double weight, double std_weight) {
//ATFICO—REBRELTZEL,

//ZZET

*/
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/* CO IR ES TILICHRTRRI — MRAZARY 2EEBZFAT 2HE BEANIC 0 @RIMNLTIIZE W, */

#include <stdio.h>

int main()

{
char s[100];
scanf("%s", s);
printf("%s¥n", s);
return 0;
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/* O CHR ES TIVICKITHRRI — REANEIRY 2SHBEFMAT 288 BERNIC o ZRMLTIRZE,

#include <stdio.h>
#include <string.h>

void selection_sort(int numbers[], int num);

int main(){
int i, num;
int numbers[50]; //#UE

/I

scanf("%d",&num);

for(i=0; i<num; i++){
scanf("%d",&numbers[i]);

selection_sort(numbers, num);

//EH
for (i=0; i<num; i++){
printf("%d¥n",numbers[i]);

return 0;

//YV—hk

void selection_sort(int numbers[], int num){
int i, j, min;
int tmp;

for (i=0; i<num-1; i++) {

min = i;

for (j=i+1; j<num; j++) {
1 /EMBOLEE
if (numbers[min] > numbers[j])

min = j;

¥

//EBHBEDANE X

tmp = numbers[i];

numbers[i] = numbers[min];

numbers[min] = tmp;

*/
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/¥ CX CHR ES TIVICKITHRRI — REANEIRY 2SHBEFMAT 288 BERNIC o ZRMUTIRE,

#include <stdio.h>

/ /RN AY

struct _item {
int item_no; //ERES
char name[10]; //PEF%&
int price; //Hffl

s

//FEELO—R

struct _record {
int item_no; //ERES
int s_num; //55 EfEZR

s

void sort_records(struct _record records[], int r_num);
void sum_records(struct _record records[], int r_num, struct _item items[], int i_num);

int main(){

int i, r_num, i_num;

struct _record records[100];

struct _item items[] = {
{1, "pen",450},
{2,"eraser",120},
{3, "notebook", 260}

s

//TEN RS DiEmEl
i_num = sizeof(items) / sizeof(struct _item);

/I
scanf("%d",&r_num);
for(i=0; i<r_num; i++){
scanf("%d %d",&records[i].item_no, &records[i].s_num);

sort_records(records, r_num);
sum_records(records, r_num, items, i_num);

return 0;

}

/17— ZERESORIEICY —

void sort_records(struct _record records[], int r_num){

*/
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struct _record tmp;

int i, j;

for (i=0; i<r_num-1; i++) {

for (j=r_num-1; j>i; j--) {
if (records[j].item_no > records[j-1].item_no) {

tmp = records[j];
records[j] = records[j-1];
records[j-1] = tmp;

[T —=AEBRESS LY — b FiT 'R

void sum_records(struct _record records[], int r_num, struct _item items[], int i_num){
int i, j;
unsigned long sum[i_num];

for(i=0;i<i_num;i++)
sum[i] = 0;

j=0;
for (1 = 0; i < r_num; i++) {
if (items[j].item_no != items[i].item_no)
J++;

sum[j] += items[j].price * records[i].s_num;

for (1 = 0; i < i_num; i++) {
printf("%d %s %d¥n",items[i].item_no, items[i].name, sum[i]);
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#include <stdio.h>
#include <limits.h>

int main(){
int min = INT_MAX, max = @, value, num, i;

scanf("%d",&num);

for(i=0; i<num; i++){
scanf("%d",&value);
if(min > value){
min = value;
}
if(max < value){
max = value;

}

printf("%d¥n%d", max, min);

return 0;

M2 £EHE / HBE . / BESIML: 159
IEZA

/* CX2 R ES TIVICETHRED — RRAZART ISBEFAITIHSE EANC o BRANMUTIZEL, */
#include <stdio.h>

int main(){
int price; //&%8
int count; //##K
int types[] = {10000, 5000, 1000, 500, 100, 50, 10, 5, 1 }; //&f&
int size = sizeof(types) / sizeof(int); //BCHIDEREX

J/IAF(CO—REBRELTZE,

int i;

scanf("%d", &price);

for(i=0; ic<size; i++){
count = price / types[i];
price %= types[i];
printf("%d¥n", count);

//ZZET

return 0;
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/* CX2 C+HRES TIVICETHRED — RRAZART ISBEFAITIHS EANIC o BRANUTIZE0, */
#include <stdio.h>

double calc_std_weight(double height, int howto);
void display(double weight, double std_weight);

int main(){
double height, weight, std_weight; //BE. k&, Z#KE
int howto; //ETEFSE

//ATF(ICO—REBRELTZEL,
scanf("%1f", &height);
scanf("%1f", &weight);
scanf("%d", &howto);

//ZZFT

std_weight = calc_std_weight(height, howto);
display(weight, std_weight);

return 0;

[ IREKEDTE
double calc_std_weight(double height, int howto){
//ATFICO—REBRELTZEL,
if (howto == 1) {
return (double) (int) ((height - 100) * ©.9 * 10) / 10,
} else {
return (double) (int) ((height / 100) * (height / 100) * 22 * 10) / 10;

}
//ZZET
}
/1R

void display(double weight, double std_weight) {
//ATFICO—REBRELTLZEL,
printf("%.11f¥n", std_weight);
if(weight > std_weight){
printf("over");

//ZZET
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/* CX2 C+HRES TIVICETHRED — RRAZART ISBEFAITIHS EANIC o BRANUTIZE0, */
#include <stdio.h>

int main(){
int sYear, sMonth, eYear, eMonth, dYear, dMonth, err=0;

scanf("%d", &sYear);
scanf("%d", &sMonth);
scanf("%d", &eYear);
scanf("%d", &eMonth);

if(sYear < @ || sYear > 9999 || eYear < @ || eYear > 9999){
err = 1;
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}

if(sMonth < 1 || sMonth > 12 || eMonth < 1 || eMonth > 12){

err = 1;
¥
if((sYear * 100 + sMonth) > (eYear * 100 + eMonth)){
err = 1;
¥
if(err == 1){
printf (" ADERE");
}else{
dYear = eYear - sYear;
if (eMonth < sMonth) {
dYear--;
dMonth = 12 + eMonth - sMonth;
}elseq{
dMonth = eMonth - sMonth;
¥
printf("%d &%d A", dYear, dMonth);
¥
return 0;
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/* CRO IR ES TIVICRTRRI — BRI ZIAR Y 2EEBZ2FAY 3155 BEANC 0 ZRIML TIIZE.

#include <stdio.h>
#include <string.h>

void selection_sort(char w[][20], int num);

int main(){
int i, num;
char words[50][20]; //XZ5I

//AN

scanf("%d",&num);

for(i=0; i<num; i++){
scanf("%19s",words[i]);

selection_sort(words, num);

//H7

for (i=0; i<num; i++){
printf("%s¥n", words[i]);

}

return 0;

/1Y—

void selection_sort(char w[][20], int num){
int i, j, min;
char tmp[20];

for (i=0; i<num-1; i++) {
min = i;
for (j=i+1; j<num; j++) {
/1 XFH DI
if (strcmp(w[min], w[j]) > ©)
min = j;

*/
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}

strcpy (tmp, w[i]);
strepy(w[i], w[min]);
strcpy(w[min], tmp);
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/* CX2 R ES TIVICETHR D — RiRAZART ISBEFAITIHE EANC e BRIAMU T IZE0,
#include <stdio.h>

/ /BN RS

struct _item {
int item_no; //EmES
char name[10]; //FEfm%
int price; //Efh

¥

//F/ELO—R
struct _record {
int item_no; //EmES
int s_num; //75_EAE#R
¥

void sort_records(struct _record records[], int r_num);
void sum_records(struct _record records[], int r_num, struct _item items[], int i_num);

int main(){
int i, r_num, i_num;
struct _record records[100];
struct _item items[] = {
{1,"pen", 450},
{2,"eraser",120},
{3, "notebook",260}

s

/ /TGN RD D
i_num = sizeof(items) / sizeof(struct _item);

//AN
scanf("%d",&r_num);
for(i=0; i<r_num; i++){
scanf("%d %d",&records[i].item_no, &records[i].s_num);

/1T7—FY— b &5t R

sum_records(records, r_num, items, i_num);

return 0;

/17— =BRESORIRICY —
void sort_records(struct _record records[], int r_num){
struct _record tmp;
int i, j;
for (i=0; i<r_num-1; i++) {
for (j=r_num-1; j>i; j--) {
if (records[j].item_no < records[j-1].item_no) {
tmp = records[j];
records[j] = records[j-1];

*/
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records[j-1] = tmp;

[T —=AEBRESS LY — b FiT 'R

void sum_records(struct _record records[], int r_num, struct _item items[], int i_num){
int i, j;
unsigned long sum[i_num];

for (i=0; i<i_num; i++)
sum[i] = 0;

sort_records(records, r_num);

j=0;
for (1 = 0; i < r_num; i++) {
if (items[j].item_no != records[i].item_no)
J++;

sum[j] += items[j].price * records[i].s_num;

for (1 = 0; i < i_num; i++) {
if(sum[i] != @)
printf("%d %s %d¥n",items[i].item_no, items[i].name, sum[i]);

16 / 16




